LABJNDu1-triangle lightness t*
with Y;=Yyw =100,
LABJNDul-triangle lightness for colours with t*,=-439
| ABINDUL =A2n[IN[(A 17+A2Y)IA 2] (Yo/100<Y<=Yy)
tr\=-642,t,=-439,t%,,=-179,n=0,66,A,=0,017,A,=0,0CH}
T*90-T*u=259,61, fal ,1001;, AO-.0,10C JYAOD65=0,6
T 2n=0,003
T*04-T*u=-192,49

T*03-T*u=-219,62

T*u=-439,62
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LABJINDu1l-
AY tristimulus value difference
with Yo=Yy -~ =100,
t* LaBINDUL =A2n[IN[(A 10+A2Y)IA 0] (Y5/100<Y<=Yy)
LABJINDu1-tristimulus value difference
(dY)FAo(AL+AY) Az A1y=0,017, A=0,0058, A=]
d919D68, 237 K-for1A0ecAGHE, 2602 NED65=0,666
dy18=0,05, AOn=0,666, A1n=0,011, A2n=0,003

y=-439 d=0,05 dY,/=0.r929 =
e - - = = =¢° application
log(dY)=0,05 m,= f‘c55 Pedl

) 1
4 1Y,=18
I
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log (AY/Y) LABJINDu1-
_ tristimulus value sensitivity
S=(@YH) with Yo=Yy =100,
t*LaBINDuL =A2n[IN[(A 17+A2Y)IA 0] (Y,/100<Y<=Yy)
LABJNDul-tristimulus value sensitivity
dY/N=Aon[(A1n+A2nY)/Aznl/(Y)
(dY/Y)900,00, fakj=0,1000, A0=0,1000, AOD65=0,666
(dY/Y)18/uC,00, AOn=0,666, A1n=0,011, A2n=0,003
(dY/Y)04/u0,0u
(dY/Y)03/u0,0u o
dYu=0,05 application
range
K ~
&
r 4
'*'_"":---'-"!..IIII
£,=-439 dY;=0,08 dY/Y,30,0029 =18
i
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log (Y/AY) LABJNDu1-
tristimulus value contrast
GO Yo=Yy - =100,
t*LaBINDuL =A2n[IN[(A 17+A2Y)IA 0] (Yy/100<Y<=Yy)
LABJINDu1-tristimulus value contrast
(YIAYYIIA gr(ArrtAznY) Az

t4,=-439 dY,=0,05 Y,/dY,=336
L Y |

| log(Y/dY)=2,52 mU:0,13“

{l
(Y/dY)90379,47, fanj=0 1722, A5-Y,1000-A0D65=0,6(
(Y/dY)18336,96, AZ.1=0,666, Aano ogmphc_&tmoos
(Y/dY)04226,1%
Y/dY)03198,1¢ = =
giv“:r)] 05 Yn4 |YU718

Ll T
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t*/tx, relative LABINDul-triangle lightnesst*
o with Y=Yy ~ =100,
Ry
relative normalized LABJNDul data
LABJNDu1-triangle lightness for colours with t%,=-439
t*LaganDu1 =A2nlIN[(A 1n+A2nY)I/A 0] (Y/1008Y<=Y,)
T*90-T*u=259,61, fakj=0,100¢,, A0-.0,10C ¥A0D65=0,6
T*18-T*u=-0,00, AOn= 0,666, Alp <0,0174A2n=0,003
T*04-T*u=-192,49
T*03-T*u=-219,62
T*u=-439,62
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log(AYIAY,)
AYIAY,

relative LABIJNDu1-

tristimulus value difference

with Yo=Yy - =100,

t*LaBINDu1 =A2n[IN[(A 1n+A2n YA 0] (Yo/100<Y<=Yy)

relative LABINDul-tristimulus value difference
(AdYY(dY)=Aonl(A 1ntA2nY)/A2nll (dY),
dY*90/dYu=4,43, fakj=0,1000, A0=0,1000, AOD65=0,6H
dY*18/dYu=1,00, AOn=0,666, A1n=0,011, A2n=0,003
dY*04/dYu=0,33
dY*03/dYu 0,28

log[(dY)/(dY, )]—0 f"u-o o application
range

1
, 1
1

.
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Yy=4 0 VY,=18
1
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log [(AY/Y) | AY/Y)] relative LABJNDul-
tistimulus value sensitivity

SSu=@YMIBYIN) v =y, =100,

t*LaBINDu1 =A2n[IN[(A 1n+A2n YA 20] (Y3/100<Y<=Yy)
relative LABINDul-tristimulus value sensitivity
(AdY/YY(dYu/Yu)=Aonl(A 1n+AonY)/Aznl/ Y((dY)/(Yy)
(dY/Y)90/UD,28, Tanj=2,1000 A0=0,1000, AOD65=0,66}
(dY/Y)18/u1,00, .0n=0,666, A1n=0,011, A2n=0,003
(dY/Y)04/u1,49
(dY/Y)03/u1,70

= application
: dYu=0,05 Se e

= = -------:-...Ild
T Togl@YIYY(@Y IR0, m=-0,13 1

t,=-439 dY;=0,05 dY/¥,=0,0029 !
Yy=4 0 'Y,=18
1
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relative LABIJNDul-

log [(Y/AY) / (Y/AAY,)]
tistimulus value contrast

ClCu=(YIBYY(UAY) vy =100,

t*LaBanDu1 =A2n[IN[(A 10+ A2 YA 0] (Y3/100<Y<=Yy)
relative LABINDul-tristimulus value contrast
(YIYY(Y dY)=YAon(ArntAonY)/Aznl/ ((Y),/(dYy)
(Y/dY)90/u1,12, fakj=0,1000, A0=0,1000, AOD65=0,66
(¥/dY)18/u1,00, AOn=0,666, A1n=0,011, A2n=0,003
(Y/dY)04/u0,67
(Y/dY)03/u0 ]
dYu=0,0
Iog[(Y/de(Y /dY,)]=0, m;=0,13

=

: t%,=—439 dY,= 0 05 Y/d‘J

application
range
Yn=4 1y =1
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